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k= 0 theta= 0.4899573 ik= 1 uik=+1 a[ 1]= 0.4636476, new theta= 0.0263097 
k= 1 theta= 0.0263097 ik= 5 uik=+1 a[ 5]= 0.0312398, new theta=-0.0049301 
k= 2 theta=-0.0049301 ik= 8 uik=-1 a[ 8]= 0.0039062, new theta=-0.0010239 
k= 3 theta=-0.0010239 ik=10 uik=-1 a[10]= 0.0009766, new theta=-0.0000473 
k= 4 theta=-0.0000473 ik=14 uik=-1 a[14]= 0.0000610, new theta= 0.0000137 

k= 0 theta= 0.4899573 u[ 0]=+1 a[ 0]= 0.7853982, new theta=-0.2954408 
k= 1 theta=-0.2954408 u[ 1]=-1 a[ 1]= 0.4636476, new theta= 0.1682068 
k= 2 theta= 0.1682068 u[ 2]=+1 a[ 2]= 0.2449787, new theta=-0.0767719 
k= 3 theta=-0.0767719 u[ 3]=-1 a[ 3]= 0.1243550, new theta= 0.0475831 
k= 4 theta= 0.0475831 u[ 4]=+1 a[ 4]= 0.0624188, new theta=-0.0148357 
k= 5 theta=-0.0148357 u[ 5]=-1 a[ 5]= 0.0312398, new theta= 0.0164041 
k= 6 theta= 0.0164041 u[ 6]=+1 a[ 6]= 0.0156237, new theta= 0.0007804 
k= 7 theta= 0.0007804 u[ 7]=+1 a[ 7]= 0.0078123, new theta=-0.0070319 
k= 8 theta=-0.0070319 u[ 8]=-1 a[ 8]= 0.0039062, new theta=-0.0031257 
k= 9 theta=-0.0031257 u[ 9]=-1 a[ 9]= 0.0019531, new theta=-0.0011726 
k=10 theta=-0.0011726 u[10]=-1 a[10]= 0.0009766, new theta=-0.0001960 
k=11 theta=-0.0001960 u[11]=-1 a[11]= 0.0004883, new theta= 0.0002923 
k=12 theta= 0.0002923 u[12]=+1 a[12]= 0.0002441, new theta= 0.0000481 
k=13 theta= 0.0000481 u[13]=+1 a[13]= 0.0001221, new theta=-0.0000740 
k=14 theta=-0.0000740 u[14]=-1 a[14]= 0.0000610, new theta=-0.0000129 
k=15 theta=-0.0000129 u[15]=-1 a[15]= 0.0000305, new theta= 0.0000176 







[1, -1, -1, 1] 

[0, 3, 6, 7]

atan(2^0) - atan(2^{-3}) - atan(2^{-6}) + atan(2^{-7})



>> s = [0, 3, 6, 7]
>> alpha = [1, -1, -1, -1]
>> sum(atan(2.^(-s) .* alpha))
ans =  0.63761
>>

>> s = [0, 3, 5, 7]
>> alpha = [1, -1, -1, 1]
>> sum(atan(2.^(-s) .* alpha))
ans =  0.63762

>> alpha = [1, 1, -1, -1]
>> s = [1, 2, 4, 7]
>> sum(atan(2.^(-s) .* alpha))
ans =  0.63840
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   4.88281211194898e-04
   2.44140620149362e-04
   1.22070311893670e-04
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vector rotation mode 

























#include <stdio.h>
#include <math.h>

#define N 16
#define Rm 8

//---------------------------------------------------------------
// conventional cordic 
// input initial angle  : angle[0]
// ouput residue angles : angle[1] .. angle[N]
//---------------------------------------------------------------
void conventional_cordic(double a[], double angle[]) {
  int k = 0, uk;

  printf("* conventional cordic ... \n");
  
  for (k=0; k<N; ++k) {
    uk = (angle[k] >= 0) ? +1 : -1;

    printf("k=%2d angle[%2d]=%10.7f ", k, k, angle[k]);
    printf("uk=%+d ", uk);

    angle[k+1] = angle[k] - uk * a[k];
    
    printf("a[%2d]=%10.7f ", k, a[k]);
    printf("angle[%2d]=%10.7f \n", k, angle[k+1]);
  }
}

int find_multiple_angle(double a[], double angle[], int k) {
  int m, mm;
  double residue, minval;

  mm = -1;
  minval = 1e+100; 
  for (m=1; m+k<N; ++m) {
    if (angle[k] > 0) residue = angle[k] - (m+1)*a[k+m];
    else              residue = angle[k] + (m+1)*a[k+m];

    if (fabs(angle[k+m+1]) >= fabs(residue)) {
      if (minval >= fabs(residue)) {
        minval = fabs(residue); 
        mm = m;
      }
    } 
  }
  return mm;
}



int main(void) {
  double a[N], angle[N+1];
  double theta; // = 4*atan(pow(2,-5)); 

  int uk;
  int k, i, s;
  int m, km;

  for (i=0; i<N; ++i) {
    a[i] = atan(1./pow(2, i));
  }

for (s=2; s<3; ++s) {

  angle[0] = theta = s * atan(pow(2, -6));

  printf("theta= %2d * atan(pow(2,-6) = %10g \n", s, theta);

  conventional_cordic(a, angle);

  for (k=0; k<N; ++k) {
    uk = (theta >= 0) ? +1 : -1;

    m = find_multiple_angle(a, angle, k);

    if (m > 0) {
      km = k+m;
      for (i=0; i<=m; i++) {
        printf("k=%2d theta=%10.7f ", k, theta);
        printf("i=%2d uk=%+d m=%2d ", i, uk, m-i);

        theta = theta - uk * a[km];
        k++;
   
        printf("a[%2d]=%10.7f, new theta=%10.7g \n", km, a[km], theta);
      }
      k--; 
    } else {
        printf("k=%2d theta=%10.7f ", k, theta);
        printf("i=%2d uk=%+d m=%2d ", 0, uk, m);

        theta = theta - uk * a[k];
   
        printf("a[%2d]=%10.7f, new theta=%10.7g \n", k, a[k], theta);
    } 
  }
}

}
  



theta=  2 * atan(pow(2,-6) =  0.0312475 
* conventional cordic ... 
k= 0 angle[ 0]= 0.0312475 uk=+1 a[ 0]= 0.7853982 angle[ 0]=-0.7541507 
k= 1 angle[ 1]=-0.7541507 uk=-1 a[ 1]= 0.4636476 angle[ 1]=-0.2905031 
k= 2 angle[ 2]=-0.2905031 uk=-1 a[ 2]= 0.2449787 angle[ 2]=-0.0455244 
k= 3 angle[ 3]=-0.0455244 uk=-1 a[ 3]= 0.1243550 angle[ 3]= 0.0788306 
k= 4 angle[ 4]= 0.0788306 uk=+1 a[ 4]= 0.0624188 angle[ 4]= 0.0164118 
k= 5 angle[ 5]= 0.0164118 uk=+1 a[ 5]= 0.0312398 angle[ 5]=-0.0148281 
k= 6 angle[ 6]=-0.0148281 uk=-1 a[ 6]= 0.0156237 angle[ 6]= 0.0007956 
k= 7 angle[ 7]= 0.0007956 uk=+1 a[ 7]= 0.0078123 angle[ 7]=-0.0070167 
k= 8 angle[ 8]=-0.0070167 uk=-1 a[ 8]= 0.0039062 angle[ 8]=-0.0031105 
k= 9 angle[ 9]=-0.0031105 uk=-1 a[ 9]= 0.0019531 angle[ 9]=-0.0011573 
k=10 angle[10]=-0.0011573 uk=-1 a[10]= 0.0009766 angle[10]=-0.0001808 
k=11 angle[11]=-0.0001808 uk=-1 a[11]= 0.0004883 angle[11]= 0.0003075 
k=12 angle[12]= 0.0003075 uk=+1 a[12]= 0.0002441 angle[12]= 0.0000634 
k=13 angle[13]= 0.0000634 uk=+1 a[13]= 0.0001221 angle[13]=-0.0000587 
k=14 angle[14]=-0.0000587 uk=-1 a[14]= 0.0000610 angle[14]= 0.0000023 
k=15 angle[15]= 0.0000023 uk=+1 a[15]= 0.0000305 angle[15]=-0.0000282 
k= 0 theta= 0.0312475 i= 0 uk=+1 m=-1 a[ 0]= 0.7853982, new theta=-0.7541507 
k= 1 theta=-0.7541507 i= 0 uk=-1 m=-1 a[ 1]= 0.4636476, new theta=-0.2905031 
k= 2 theta=-0.2905031 i= 0 uk=-1 m= 1 a[ 3]= 0.1243550, new theta=-0.1661481 
k= 3 theta=-0.1661481 i= 1 uk=-1 m= 0 a[ 3]= 0.1243550, new theta=-0.04179311 
k= 4 theta=-0.0417931 i= 0 uk=-1 m=-1 a[ 4]= 0.0624188, new theta= 0.0206257 
k= 5 theta= 0.0206257 i= 0 uk=+1 m= 3 a[ 8]= 0.0039062, new theta=0.01671947 
k= 6 theta= 0.0167195 i= 1 uk=+1 m= 2 a[ 8]= 0.0039062, new theta=0.01281324 
k= 7 theta= 0.0128132 i= 2 uk=+1 m= 1 a[ 8]= 0.0039062, new theta=0.008907012 
k= 8 theta= 0.0089070 i= 3 uk=+1 m= 0 a[ 8]= 0.0039062, new theta=0.005000781 
k= 9 theta= 0.0050008 i= 0 uk=+1 m=-1 a[ 9]= 0.0019531, new theta=0.003047659 
k=10 theta= 0.0030477 i= 0 uk=+1 m= 1 a[11]= 0.0004883, new theta=0.002559378 
k=11 theta= 0.0025594 i= 1 uk=+1 m= 0 a[11]= 0.0004883, new theta=0.002071096 
k=12 theta= 0.0020711 i= 0 uk=+1 m=-1 a[12]= 0.0002441, new theta=0.001826956 
k=13 theta= 0.0018270 i= 0 uk=+1 m=-1 a[13]= 0.0001221, new theta=0.001704886 
k=14 theta= 0.0017049 i= 0 uk=+1 m= 1 a[15]= 0.0000305, new theta=0.001674368 
k=15 theta= 0.0016744 i= 1 uk=+1 m= 0 a[15]= 0.0000305, new theta=0.00164385 




